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 
 
 
 
 
  

         2015  .
         2015   





 




 

 















 

 

 

 

 

  


 





 




 




































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



٠ 

 

 

 


   

 




      
  

   

 


  
 




 




 


    

 





 




 


   


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 


   

 


  

 
 





 




 




 


    


 





 





    




 

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



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
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 

   


  


 


  





 


 


 


 




  


 


 


 


 

 

 

 






 

 

 

 

 

 

   


 

 

   


  





  




  


  



  


  

     

  



   


  





  


  






        
    

 

 


١ͭ        ) ثولتلا  رداصم ᚽᣄᡫᗫ٨١ص  )ة      
٢ͭ                     )     يبلا ثولتلا عاونأᣎ᡽

ᢝ (   ٨٣ص      
٣ͭ     سأᘘاضوضلا ثولتلا باᣍ᡽

ᢝ  ( ٨٧ ص         
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ᗷا نم ةلطᗷءافطإ لاط 
 ةمجانلا طفنلا قئارح
ᣚᡨارعلا وزغلا نع

ᢝ 
   ᜧᣂᢔا ةراس انا  مشاغلا

 

  ᣧᢝت ت مل ةᘭضق
ᗷتأد ᗷبرحلا دع  

    ᣠولاا ةᘭملاعلا
 ᣌᢕᡧطسلف ةلود انأ

 ١١٥ص

 

   )ءادهشلا رادج(  يدل دجوي   ت᜻ᖔᗫلا ملاعم نم ملعم انأ
 ١٢٣ ص      دᘭهشلا ةقᘌدح    انأ
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



  

 

 

  



  

 

  



   

 




 




 

 



         




















  


 

  

  

  

  

  

  

 

 

 

  


 

  


 

 
 

 

  

  

  

  

  

 

  

 








 

 





 
 

 

 
 

 

  





  




  




  


 

  


 

    

   
 

  




٩.  

 



        




  

 ١١ م٢٠٠١  

٢١.  


  

 

 



  . 

        








 

 






 



       )   

  ) (       

      -  -       
  )      (       
 




     

     . 


    

  


  






     

           

         ,             . 





       . 

      . 

   

             . 

      . 

           . 
 













 

 















–





     
                    

      . 

    .        

        . 


 

          
         . 

 


  

   


           . 

 

.  .  




 

 


  

  

  






 

 

 

 

 

      
         

 
 
 



 

   


 

 

           .
 

        . 


 

 

 


 


  
       %   
           

 




٨

  

  
 

 

  

 
















 

 




 


       -   -       

   . 

              
   

 
                 

       . 


 


 

 

              
      

               
     

            

 .                    

         . 
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 
  

  

 
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 

  

  

  

 
  
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

 








 

 
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





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
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             

.






 

 












 

 



















































 


 




 



 




 

 




 

 


 








––


























 



       

      
    
 










 

 



















 

  


 




 






 




  

   

  


 



 


 




  

       
  %    
  

       
   

      
    . 



 




 

 

















 

 

 

 














 

 

 

 



 



  

 
 


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 

 






 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

 
  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  




 

 






 

 


 

  

  

  

  

  

  

  

  

  

  

  

 
 

  

  

  

 






 


  

  

  


   

  
           

   .
  




  


  







 

 





 


    
 


    

 


    
 


    

 


    
 


    

 


    
 


    

 


    
 


    

 




 


    
 


    

٤١(  




 




 


    
٧١(  


    








 

 






















    

     

  

  

  


  

  

  

     

  

   


  

  


  

  







  

  

:  




 

 







–––







––





_

























 

  

 


١ͭ    

 

  )ᘭᣥᢝ  ظنتلا لᘭᜓهلا (  ᣤᢝلاسلاا نواعتلا ةمظنم ةزهجأ(                  
        

٢ 


) لا قودنصلا لمع تاقاطن᜻ᖔᗫᣎᡨ
ᢝ  منتللᘭ١٥٩ص  ة  (   

     

٣ͭ   

 ) عمجلاᘭخلا تائيهلاو تاᣂᢕᗫة ᣚᡧ
ᢝ  لا᜻ᖔᗫت       (         

  
 
 
 









 

 







 







  







 









 




























 

 










٣ 

١ 

٢ 

- 

















٢ 

١ 

- 

٣ 



)






 




 

 
















































 
 
  


 
 

  

 











  

  

  







 



  

  

 
 

)




 

 






















 


 

 

 

١- 

 - 1966         .




٢- 

 -            

 -    .
           


٣-  

 -         
















 

 






  


 

 



  




 





 
 
 
  

 

  

  

  

  

  

 
 

  

 
  

 

 
  

 

 

  

 
 
  








 

 

















      %       
*. 

     

     .











 
 

  

     

  

  

 
 
 
  





       /        
               
              

   ,          
     ,     .
 



             
              

          .





 

 

 




























































































 



















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






























































































































   
   

  
 
  

  
   




  


   
  


   
   

 
  

   
  

 . 

 



  
  

   
 
  

   




  
  
  

  
 

  
   




  
   
 

  
  
 
  
 . 

. 


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 































































































































 

 
















  

 





  

 








 












 




 

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